Okun’s Law Lab 2:  Estimate “original” equation
Laboratory assignment
The original form of Okun’s Law is:

((U*–U) = (Y – Y*)/Y*
We cannot estimate this in this form, as U* cannot be measured directly.  If we rearrange the equation, we get:
U = U* – (1/()(Y – Y*)/Y*
which resembles a linear equation of the form y = mx + b, where y = U, the y-axis intercept b is U*, the x-axis variable is (Y – Y*)/Y*, and the slope m is – (1/().  Similar to the first Okun’s Law lab, if we plot U  vs. (Y – Y*)/Y*  and add a “trendline” regression line, we should be able to estimate ( and U*.
Download the Excel spreadsheet for this exercise, and open it.
· The spreadsheet contains quarterly data for GDP gap and the unemployment rate
· Unlike the first lab, it is not divided into time periods

The directions mirror the first Okun’s Law lab:

1.  Plot the GDP gap and the unemployment rate data for 1949-1972 on a scatter plot chart.  Recall to accomplish this, highlight columns C and D by clicking (and hold down button) on the C button at the top of the column and moving your mouse pointer over the D button.  Let go of the mouse button, click on the Insert menu, and then on Chart.  Choose XY Scatter, and the option with no lines.  Click through the menus, inserting titles, etc. as you wish.  When finished, add the chart as new sheet, and give it the name 1949-1972.  You should notice a definite downward trend in the data.

2.  Now fit a regression line through the data points by adding a “trendline.”  Also make the equation of the trendline visible.  To accomplish this, click on the Chart menu, then on Add Trendline.  You want a linear trendline.  Then click on the options tab, and select the display equation name on chart option.  Click on OK.

(a) What is the Okun’s Law coefficient?  That is, if the unemployment rate rises by 1%, how much does real GDP growth change relative to potential?  How does this compare to the results from the first lab?
(b) What was the natural rate of unemployment from 1949-1972 according to this estimate?

3.  Repeat the above exercise for the other two time periods:  1973-1996, and 1997-2004.

(a) Did the Okun’s Law coefficient change?  How do the estimates compare to the first lab?
(b) Did the natural rate of unemployment change between the three time periods?

4.  Aside from the assumptions and mathematical cheats, can you think of any weaknesses in the approach used in this exercise?

